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Used as a measure of achievement 

against target which have been previously 

set and a measure of the effectiveness of 

the contractor’s project management

Hit Ratio – Tasks/Activities

Hit Ratio – Critical Activities

Hit Ratio - Deliverables
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Hit Ratio Tabulation

Planned Quantity (PQ)

Actual Quantity (AQ)

Hit Ratio = (AQ – PQ)/ PQ
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Back-up of Hit Ratio Analysis

WBS

Tasks, Critical Activities, 
Deliverables (BQ Bill Items)

Duration

Early Date

Actual Start Date

Planned Progress

Actual Progress
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Actual Start Must Not Exceed Late Start

Criteria 1

Actual Progress Must Equal or              
More Than Scheduled Progress

Criteria 2



EXERCISE : HIT RATIO

Task Critical

Task

Late 

Start

Actual

Start

Sch% Act% C1 C2 Hit

A C

B NC

C C

D C

E NC

F NC

G … NC
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To determine 

probability for the 

project to complete on 

time
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PROBABILITY OF PROJECT BEING COMPLETED ON TIME

Key Processes :

Identifying project critical path(s)

Determine task’s Optimistic, Most likely, and 

Pessimistic durations

Perform PERT analysis 

TE is the best estimate of the time required to accomplish a 

task

TE = (O + 4M + P) ÷ 6

Calculating Z value

Convert Z value to probability of project being 

completed on time, using Areas under Distribution 

Curve

Show the probability in Percentage (%) 10
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Z Probability Probability Z

-2 0.02 0.98 2

-1.5 0.07 0.92 1.5

-1.3 0.1 0.9 1.3

-1.0 0.16 0.84 1

-0.9 0.18 0.82 0.9

-0.8 0.21 0.79 0.8

-0.7 0.24 0.76 0.7

-0.6 0.27 0.73 0.6

-0.5 0.31 0.69 0.5

-0.4 0.34 0.66 0.4

-0.3 0.38 0.62 0.3

-0.2 0.42 0.58 0.2

-0.1 0.46 0.54 0.1

0 0.5 0.5 0
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PROBABILITY CALCULATION

14

25%

-

T (Duration sum from the Mean Duration) = ∑ tj = 651.67

∂² = ∑ (∂j)² = 229.00

T (Duration of the project) = ∑ m = 642.00

Z= (t – T) / ∂ = (642 – 651.67) / SQRT (229)) = 0.64

Probability of the project being completed on time


